### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 15 - Bellshill
Valid Votes	4,631
Positions to be Filled	4
Quota	927

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David BAIRD	Your local Alba Party independence champion	104
Colin CAMERON	Scottish Conservative and Unionist	632
Angela CAMPBELL	Scottish Labour Party	1,162
John DEVLIN		209
Jordan James LINDEN	Scottish National Party (SNP)	1,300
Pat PATTON	Scottish Labour Party	635
Lisa STUBBS	Scottish National Party (SNP)	589
	Total	4,631

Candidate Angela CAMPBELL Elected with 1,162 votes, being in excess of the quota of 927 Candidate Jordan James LINDEN Elected with 1,300 votes, being in excess of the quota of 927

## **Transfers Report**

This report contains the transfers results.

# Stage 2 - Surplus of Jordan James LINDEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BAIRD	16	0.28692	4.59072
Transfer to Colin CAMERON	12	0.28692	3.44304
Transfer to John DEVLIN	38	0.28692	10.90296
Transfer to Pat PATTON	77	0.28692	22.09284
Transfer to Lisa STUBBS	1,041	0.28692	298.68372
No further preference	116	0.28692	33.28272
Not transferred due to rounding			0.00400
	Total		373.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 3 - Surplus of Angela CAMPBELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BAIRD	9	0.20223	1.82007
Transfer to Colin CAMERON	88	0.20223	17.79624
Transfer to John DEVLIN	59	0.20223	11.93157
Transfer to Pat PATTON	851	0.20223	172.09773
Transfer to Lisa STUBBS	26	0.20223	5.25798
No further preference	129	0.20223	26.08767
Not transferred due to rounding			0.00874
	Total		235.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of David BAIRD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin CAMERON	10	1.00000	10.00000
Transfer to John DEVLIN	32	1.00000	32.00000
Transfer to Pat PATTON	15	1.00000	15.00000
Transfer to Lisa STUBBS	24	1.00000	24.00000
Transfer to Pat PATTON	2	0.28692	0.57384
Transfer to Lisa STUBBS	8	0.28692	2.29536
Transfer to Colin CAMERON	1	0.20223	0.20223
Transfer to John DEVLIN	2	0.20223	0.40446
Transfer to Pat PATTON	3	0.20223	0.60669
No further preference	23	1.00000	23.00000
No further preference	6	0.28692	1.72152
No further preference	3	0.20223	0.60669
Not transferred due to rounding			0.00000
	Total		110.41079

## **Transfers Report**

This report contains the transfers results.

## Stage 5 - Exclusion of John DEVLIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin CAMERON	24	1.00000	24.00000
Transfer to Pat PATTON	81	1.00000	81.00000
Transfer to Lisa STUBBS	53	1.00000	53.00000
Transfer to Pat PATTON	6	0.28692	1.72152
Transfer to Lisa STUBBS	20	0.28692	5.73840
Transfer to Colin CAMERON	9	0.20223	1.82007
Transfer to Pat PATTON	32	0.20223	6.47136
Transfer to Lisa STUBBS	1	0.20223	0.20223
No further preference	83	1.00000	83.00000
No further preference	12	0.28692	3.44304
No further preference	19	0.20223	3.84237
Not transferred due to rounding			0.00000
	Total		264.23899